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1. Find a general solution, and show each step of your calculation in detail. (20 pts)
V' (x)+47y (x)+47°y(x) =0

2. Solve the initial value problem, and show each step of your calculation in detail. (20 pts)

y =2y =6 -4 p(0)=-1, y'(0)=6

3. Find the eigenvalues, and the corresponding eigenvectors. Show each step of your calculation in detail. (20
pts) |

(3 5 3]
0 4 6
0 0 1

| 4. Solve by the Laplace transform, and show each step of your calculation in detail. (20 pts)

y 45y +6y=u(t-1)+5(t-2), y0)=0, y'(0)=1
5. Solve y(#) by the Laplace transform, and show each step of your calculation in detail. (20 pts)

y()+z () +2z()=0

y (@) +2y(t)+ 6jz(z‘)dz = =2u(?)

P(0)=-5,  2(0)=6




